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Translation in English
Sub: Indian Economy -2 (ECG - 201)

Instructions:

1) All Question are Compulsory.

2) Figures to the right indicate full marks.

3) Inthe case of any doubt the Marathi version dimaleld to be authentic and final.

4) While writing answers the respective question numbaust be mentioned in the
Answer Book.

Fill in the blanks with the correct option. (20)
1) The pace of industrialisation depends upon --——-------- :
a) Government's policy b) education
C) society d) population
2) International trade is always beneficial to a}—------------- .
a) peoples b) consumers
¢) merchants d) countries
3) Cottage industries are generally associated with—----------- :
a) dairy products b) hatcheries
c) agriculture d) ranching
4) Accumulation of ------------------ is an importadeterminant of economic growth.
a) raw material b) capital
¢) machinary d) commaodities
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5) Public sector can help in reducing -----------— +n the economy.

a) equalities b) poverty
¢) inequalities d) employment
6) The most important internal cause of sickness adistries is -------------- problem.
a) workers b) management
¢) mechanical d) technical
7) The progress of all types of industries dependtheravailibility of ----------------- :
a) workers b) raw material
c) transportation d) capital
8) Now a days all modern economies are --------- ——-based economies.
a) money b) education
¢) training d) knowledge
9) The --------s-mmeee- bank is the supreme monetand banking authority in the
conunty.
a) State b) Maharashtra
c) Axis d) Reserve
10) When the bank rate decrease, then credit becomes-—-------- .
a) cheaper b) costly
C) rare d) unlimited
Q.2. Answer the following questions in detail. (AnyThree) (30)
1) State the importance of industrialisation.
2) Explain the role of small scale and cottage indestn economic development.
3) Explain the characteristics of sick industries.
4) Explain any six functions of R.B.I.
5) What is menat by budget? Explain the types of budge
Q.3. Answer the following questions in brief. (AnyTwo) (20)
1) State the objectives of public sector industries.
2) Explain the affecting factors of money supply.
3) State the qualitative sources of credit control.
4) Explain the primary functions of commercial banks.
Q.4. Write short notes. (Any Two) (20)
1) Problems of small scale and cottage industries
2) Secondary functions of commercial banks
3) Industrial disputes
4) Effects of public expenditures
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